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SIMPLIFICATION

2 Fraction,
L= 1007, %y = 0% % = 3157
Yo =507, g = 8-B7. /8 = 62-57.
Vo = 33.33. Via = 1-697. g = @157
%= 257, Y =F-147- Sk = 83.337.
% = g07. /s = 6-€€ 7. Win = 91.47 7.
I/g = 16-€£7. {/16 = £-957-
{/';- = lu4-287. l/l? = 5-887. L‘("WT
bg =12-57. g = 55671
Yq = 1-117. lViq = ©-26%
Yo = 107. Vao =57.

/ ML bLfca‘t‘l‘Qﬂ_

|fraction | —— Addition
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Meleplicabion fﬂ::

(a> /.

T = 4.287 (b) f/q_ = 25y
@Q (4
S g = 714 7 °ly = 12-57.
(4
| _ =
b = 595 %

iy L
(&) % = 16-6¢ 7. € L = q.09y.

G ¢

/ 4 .
s = B-32¢ "% = 189y,
Addition fbm:
@) l07.697. Chil- | & EE %
=3 60y <+ F-£9 . —o7/. + 1£-6€ 7.
= / — —
=L+ Mz =13 =1 +¥ =1L
) 131-57. (o) [¢9.5 Y.
—32 {00 ¥ .4 357, = o0/ +£2-5 7.
:.f#g/e:ll/é :,‘}_5/8
o I8
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@) 96.9¢y, (b) 8%-8 7.
= loo /. —9.097. = 1007 —-12-57.
- o i
% L - > 4 8
= ';_cf_ = "
TR g 4nd
(C) 992.8¢ V.

=2 oo /. - T-14 +.
’..

A=n

o And

L

E§ [ 28-5¢ 7 Of 35+ 81.57. c? =
=(2>x%) x 85 + (l07. = 12:57) x32 =%
= & -+

2 x 35 + (1-g)x 82

=2 yvas + L x32
7 8

= Jo+ 28 = 3B 404

3F-Sv. of €4 + 16-6C7 of 04 ={T23 + 21
Z3C12-57) xcu + (&) X 24 =23 + 2

4..
=8xL y o+ xa = 2F +
] 4
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=244y =g +3C

[3.] 4e 7. of 234 Loo 7. = 2uay
/'\ S0Y. = (9lF
S0% -2y & =024.24
= 1203 —ug.¢8 27 = Ug-68
= 1168 .22 4y

qs . c} 2480
/%

50%-5 .
800l O 24y &0
1230 - 123 SO/ — 1220
=110F 4ng 5'/=-—=»113
5. /SS\/ o?g Sos
S50v +5S /. o0 /. — 504

2625 +2¢ .05 RO, R g0

= 28935 An SV = og08
(€] 267/ ag; I
. 248
A\
25v. +1 . ‘D s —= Joug
512 Lin -t 7. — Yy >layg=gn
= 324-ug 4, [7- = 1248,
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GT-€& 7. 33
/\

§C.Ecri b -
CCrEL . 66-C6 7.
224¢ + 233-69 LQ

= % 339
=2279 .69 4ng =
= 2X [(23
- =224¢
Bsa Q-2
LT op boyd of o |

T Y
Towl 0| %Jr% Botv aswe Same,

How 1l works *
== 1os WoKs !
WS¢ f 50

"‘)5{1 ergﬂ So = 50 v. a-f S6
|
) v
D[mg ko 8ockuna, Kuch, bbs mahi &cﬁ\mcz,

PQoﬁeéSQ , Diwect
=28 Ay,
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‘ﬁﬂﬁoy_c% 25.¢

Additien, % S Q_E’Emcﬁ@z totzks

§-[E.] 4857 + 4oy + 90 a4

:5(;’&90& Me 1’7’4.000

CloY0)
4¢gs 9
cu24
+ 923\

2051 F Ang
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ame, (Ja[a j\’[eﬁ/"od

Sarkas; Mauksi [aé

@__,L 4859 4+ g4 + 9234

4000 goo 59
o000 400 24
Qooor 200 3Y

HF

[qoo0 4 400 +
X Solve all Calculation dn animd, oot en pen,
g paper.

Solve, om m?/t'm_czﬂ

L* 4soo + 84ov + 1600 = 20, 600

2~ 3848 + S238 - 33l = 5,770

S lgU + 1982 — 768 = 23qg
4. 2368 + 146U +108§ —29 = 39|

S 49352 + 61264 +89si¢ =1,99,982

M ulﬁiﬁlﬁcaﬁ‘éooz taief

X Mulh‘bf& baa ) ridﬂ hamd
J"{QZHF%L b(cf 0F Hon
a) Gl6ugxs clevele by 25 6m onial

480
2

= 23240 M
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b) 322uxs

2240
2

5 3

= g 120 Hnd

C) 325 %S

= 2950
2

= (625 4nd.

) 3223Xx5

=8292720
=115 Ang,

X Mulh‘blg baL 25

He,lbh‘g‘ Poand;
Cg: @) (3205 Mulkibly by lovd Hon
s | ivicle bH4ﬁ%mM.
AI(300 e
=182854ng.
(bt 1816405
—181¢0ov
= ke Ay,
(c) 2131 X 2.5
2 213 00
——— = S32F5 .

4.-
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X Mulkiply by 25

MuleolH. by Looo ‘% Hum,

e.g. (a) &lF X (2§ clivide, by 8 om amimel-
) L7600
“-,—‘7_8—' =52125 AnS.

(b) 37128 (25

8
% Do cut_lomon, pay. GRS Lo Multiblicadn

522(2?55 DIvis o

X Hel@ﬁu[ 270 fzol\/fﬂg DL.
TR,

2F3 - 249

= —— X 356

F44 ) 100D

22 Ly Nearest loo Mulkiple

l—) lets Calt Tt 49. 3242
L1y

Loatio of oo frmction 2 5= (55)

] = 4~ R . ) . .
. 5an f”’icwnta,mmg Rato ekuo-t bure,
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b teo. 750 73
x4 -
O~y 4o = 1 |
g '_E
X 4
y le) Jdivel
e, e
(o) 273 _ 2uq 4 gl
F4 700 () 249 . gs.5
il f
() 855 _ asa
160
2,s 498
|43 F
—> 49298 __ (ov0 5
143 F 14 00 +
oS4
=-2§
Q =]
o P8 em
W
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S 537
88«
Fob L
> S . 53% 553
B = ~

W

8¢
{ >

# This Methocl gives ws appswxionale dea
ham, we Carm Galeulate daka by obHens

Cas E‘i#.

gﬁiﬂi&ﬁi Calculatr Ssults
\
L) 937
)’ ~a¢l 610
SaY
ic) 138 1.854
~ }o TR *
93+ 85
.II'P) Q_OC’
HE T 5 l.sS 1.55
[3s2
Lv) €4l
. ~ &8 684
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Cube %' Cube Root

8- 1% = 133L
B 9 120 = 1728
o 13° = om?
L3 = gn 14° = o
5° = 195 1S° = 3335
63 =216 163 = Lo9¢€
_’3 =34 L?S = 4913
g’ =512 1% = 5932
a’ = 729 19° = 6859
0= oo 20°= Bowo

% Leawn Cube of L i 20 for e fagitn
Calcalation.

el o ﬁ,,‘;ngb Cube Of a/r-a( muwmben ’,

Eg- UQ,JS
(@) Make Cube of L§ 2.
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SQUARES

% Sysanes of 1750 ¢

/3
=1 nt=ga 2t=4y 3f=qqr @' =168l
2%=4  jo% =4y 22"=ugy B2 =102y 42 = (164
3= q 13-= 169 23*=go9 33 =089 Ug® = Igyq
.4
4% — ¢ ®= 19¢ 24%=53¢ 8Y2= us¢ wu2- 1934
n =
&S = 25 Is% =205 as*=¢os a$*=1225 u4sT= 209§
2 _
Ga__ 3¢ 16%= 0s¢ 22 =¢1¢ 3= 129¢ Qé*=a11¢
3% - 7
. 4q r;; = 289 931 =329  233%- Ig¢q  43%= 2209
= g4 = =
‘87=23% 28 =184  ag?=o 4y up?o 230Y
=81 (%= ag, 29%= 2
. { =gu| 3 =182 49% = e,
6%=|00 -
07=400  20"=agm  dokigey sp2 2500
Trick of Sy uase, of am# bwo digrd Nthbe:zr
.'Bb'ﬂfnamp.sf'aq -3
L (63)*
Jd
26 09

360 2 €XBx2x (0
3969
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Steps
Q) wsglte tHw Sﬁuam ﬂf wndividual cuwmben
3
2 N
34 o = 3609

b) Mul#bla_ Ha d@éﬁ

€43

(

18

18Xx2 = 3¢cx o = 3¢o

) Addl ta) g (c)

3609 + 366 = 3969 dng

——

2 . (_qu_

AN
qa 38lI
122 60 - Txq Xk ax|o

€9 Al

2. (80"
Ll
gulé
€40 = B8X¥4UXx 2 X 1p

10S¢ dnyg
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. (Cuf)Q
VR
81 8¢
10 80

QWi A

X Toug h)S%area}lem% 30 M ol .
Rc«:ﬂ? It taked less tan LO Seconol.

* we obsenwved Hat umit digit
ot = %S?Jﬂm% O.m.a, Numberu 14

89‘::. | 9"‘-%. Cam_ be. : L,L{gS;G;?

. 1
4% = (6

s%= 25 1o 03] [ o wat dyt of o
72 = Uy S S Ham SPUR s
8* = ¢4 ¢ s |7 b

9t =g Jra & 1B.1s

lo* =loo Li 287 h
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